THBEE ANIKAERER

BEREES
O=48 Okigi - a1
HKEAR - R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 - R4.3.2
FRKEFZ - 9:35 - 9:40 - 9:45 - 9:40 - 9:45 - 9:45
P e £ (mg/2) - 0.61 - 1.3 - 0.85 - 1.4 - 0.77 - 0.83
" BIHBEER (mg/2) - 0.023 - 0.014 - 0.021 - 0.015 - 0.018 - 0.019
WBEERRUEMBREER (me/0) - 0.6 - 1.4 - 0.8 - 1.4 - 0.7 - 0.8
fig =

QBELABFEHE (JKigi4 : #Fa)ID

BKEAE - R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 - R4.3.2
FRKEEZ - 10:00 - 10:10 - 10:10 - 10:00 - 10:10 - 10:10
REEE HEBMEER (mg/Q) - 6.0 - 2.2 - 1.7 - 2.0 - 2.2 - 1.9
0 BIHBMEER (mg/2) - 0.19 - 0.014 - 0.014 - 0.012 - 0.022 - 0.015
WEMHERRUERBEZERE (ma/Q) - 6.2 - 2.2 - 1.7 - 2.0 - 22 - 1.9
1 =

QHED LTI (K iz 4 - 403%8)11)

HKEHB - R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 - R4.3.2
FRKEEZ - 10:25 - 10:30 - 10:30 - 10:25 - 10:35 - 10:30
REEE HBEER (mg/Q) - 38 - 2.9 - 2.1 - 2.3 - 2.3 - 1.8
h BHBEESR (mg/2) - 0.058 - 0.012 - 0.014 - 0.010 - 0.022 - 0.019
WRMEERRRUERNBREZRE (ma/0) - 3.8 - 29 - 2.1 - 23 - 23 - 1.8
] =

DB ERRVEHEBREEROAMNELTVET,



@48 Ok teh 4 - 4034811
AR

RKE R3.4.7 R3.5.12 R3.6.2 R3.7.7 R3.8.4 R3.9.1 R3.106 | R3.11.10 | R3.12.8 R4.1.5 R4.2.2 R4.3.2
FRKEEZ 11:15 11:15 11:50 11:10 12:30 11:10 11:15 11:00 11:45 11:00 11:00 11:00
HRIHL (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003
2Ty (mg/Q) <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1
Fie) (mg/Q) <0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.001 <0.001 <0.001 <0.001
AMEZOL (mg/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
At (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
Ik ER (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
PCB (mg/2) - - <0.0005 - - - - - <0.0005 - - -
SHOQAAY (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
migb k% (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
12->H0aTAY (mg/2) <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 -
' A-ynoaIFLy (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
B [L212-590AIFLY (meg/0) <0.004 - <0.004 - <0.004 - <0.004 - <0.004 - <0.004 -
B [a1-ry5onzss (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
B [1i2-ryZo0xs> (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
r)yaOTFLY (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
ThZoO0IFLY (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
1,3->onn7axRy (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
F51 (mg/Q) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
DEOD (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
FARVAILT (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
oty (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
LY (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
HEBEER (mg/Q) 2.4 25 2.3 2.8 2.1 2.1 2.3 2.2 0.93 23 1.6 1.8
BEHBEER (mg/9) 0.015 0.019 0.009 0.009 0.014 0.012 <0.005 0.017 <0.005 0.007 <0.005 0.008
WRMHERRRVERBREZER (ma/Q) 2.5 2.5 2.3 238 2.2 2.1 2.3 22 0.9 23 1.6 1.8
;0% (mg/Q) 0.06 0.07 0.06 0.06 0.07 0.07 0.06 0.07 0.04 0.06 0.07 0.07
F5%F (mg/Q) <0.02 0.02 <0.02 <0.02 0.02 0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
1,4-OFFH> (mg/Q) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
VISI=E PN (mg/2) - - - - <0.006 - - - - - - -
F5UR-1,2-Y9A0IFLY  (mg/Q) - - - - <0.004 - - - - - - -
1,2->Haa7a/ > (mg/9) - - - - <0.006 - - - - - - -
p-CHOAR B (mg/Q) - - - - <0.02 - - - - - - -
AIXYFAY (mg/2) - - - - <0.0008 - - - - - - -
BATOIY (mg/2) - - - - <0.0005 - - - - - - -
ZI=rEFF (mg/Q) - - - - <0.0003 - - - - - - -
AVTaFHS> (mg/2) - - - - <0.004 - - - - - - -
XU (mg/2) - - - - <0.004 - - - - - - -
pI=I=p s =) (mg/2) - - - - <0.005 - - - - - - -
JOEHER (mg/Q) - - - - <0.0008 - - - - - - -
EPN (mg/2) - - - - <0.0006 - - - - - - -
THOLIRA (mg/2) - - - - <0.0008 - - - - - - -
B [Zz/7AL7T (mg/2) - - - - <0.003 - - - - - - -
B |[470RUhX (mg/2) - - - - <0.0008 - - - - - - -
# [ZoL=rODzy (mg/2) - - - - <0.0001 - - - - - - -
BH LTy (mg/2) - - - - <0.06 - - - - - - -
B [¥LY (mg/2) - - - - <0.04 - - - - - - -
FAVERY ITFNARVI (mg/Q) - - - - <0.006 - - - - - - -
=L (meg/2) - - - - <0.001 - - - - - - -
E)ITY (mg/2) - - - - <0.007 - - - - - - -
TUFEY (mg/2) - - - - <0.002 - - - - - - -
ElEEZILE/R— (mg/Q) - - - - <0.0002 - - - - - - -
IFH/0Oery> (mg/2) - - - - <0.00004 - - - - - - -
&3IUHY (mg/2) - - - - <0.02 - - - - - - -
o5y (mg/2) - - - - <0.0002 - - - - - - -
Jz/—)L (mg/2) - - - - <0.001 - - - - - - -
RILLTILTER (mg/2) - - - - <0.1 - - - - - - -
4—t-1HFNI1/-N (mg/2) - - - - <0.0001 - - - - - - -
7= (meg/9) - - - - <0.002 - - - - - - -
2,4-Y"9aA71/—) (mg/2) - - - - <0.0003 - - - - - - -
PFOSE UPFOA (mg/2) - - - - 0.000013 - - - - - - -
i
IR=o




OINELAC T2 PV
BRKEAR

- R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 R4.3.2
FRKEFZ - 10:50 - 10:40 - 10:45 - 10:30 - 10:30 10:25
P e £ (mg/2) - 28 - 3.0 - 24 - 24 - 2.9 2.0
" BREBEESR (mg/2) - 0.017 - 0.010 - 0.011 - 0.014 - <0.005 0.013
WERMHERRUERBEER (mg/Q) - 2.8 - 3.0 - 2.4 - 25 - 29 2.0
i =
®EFE T i Ok £ - HIEa)11)
RKEAE - R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 R4.3.2
K - 10:15 - 10:10 - 10:10 - 10:10 - 10:10 10:00
REEE HEBEER (mg/Q) - 3.3 - 3.3 - 3.0 - 3.0 - 4.1 3.4
0 BIHBMEER (mg/2) - 0.006 - 0.006 - 0.014 - 0.010 - <0.005 <0.005
WEMERRUERBEER (ma/Q) - 3.3 - 3.3 - 3.0 - 3.0 - 4.1 3.4
1 =
@:EHE (ki - a1
BAKEAE - R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 R4.3.2
FRKEEZ - 09:40 - 09:20 - 9:30 - 9:30 - 9:30 9:15
REEE HEBMEER (mg/2) - 49 - 4.1 - 3.7 - 4.1 - 5.8 5.4
0 BIHBEER (mg/2) - 0.017 - 0.007 - 0.013 - 0.011 - <0.005 <0.005
WRMERRUERBEZERE (ma/0) - 4.9 - 4.1 - 3.7 - 4.1 - 5.8 5.4
] =
@¥r 1L HHE (kg4 - I
HKEHB R3.4.7 R3.5.12 R3.6.2 R3.7.7 R3.8.4 R3.9.1 R3.10.6 | R3.11.10 | R3.12.8 R4.1.5 R4.3.2
FRKEEZ 9:10 9:00 9:05 9:00 9:20 9:00 9:30 9:00 9:30 9:05 9:00
REEE HBEER (mg/2) 39 49 35 45 43 43 47 4.2 1.5 43 2.7
0 BHBEESR (mg/2) 0.50 0.58 0.48 0.19 0.49 0.25 0.24 0.17 0.043 0.22 0.33
WRMEERRRUERNBREZRE (ma/0) 4.4 55 4.0 47 48 46 5.0 44 15 4.6 3.0
] =
@5hiEE (kigif - F)ID
HKEAR - R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 R4.3.2
FRKEFZ - 10:55 - 11:00 - 11:00 - 11:00 - 11:00 10:50
P EEES (mg/2) - 5.2 - 44 - 47 - 43 - 6.7 6.7
0 BHBEER (mg/9) - 0.07 - 0.016 - 0.031 - 0.020 - 0.064 0.12
WHBEERRUERBREZER (me/0) - 5.3 - 45 - 47 - 43 - 6.7 6.8
] =1

DM ERRVBHEBREEROAMNELTVET,




Q18 (kigi4 : FID

FKEAB R3.4.7 R3.5.12 R3.6.2 R3.7.7 R3.8.4 R3.9.1 R3.106 | R3.11.10 | R3.12.8 R4.1.5 R4.2.2 R4.3.2
FRKEEZ 8:35 8:45 8:45 8:30 9:20 9:00 9:00 8:30 9:00 8:30 8:30 8:45
HREIHL (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
E (mg/Q) <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 -
Fie) (mg/Q) <0.001 0.001 <0.001 <0.001 <0.001 0.001 <0.001 <0.001 0.002 <0.001 <0.001 <0.001
AMAEiZ 0L (mg/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
At (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
Bk ER (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
PCB (mg/2) - - <0.0005 - - - - - <0.0005 - - -
SHOQAAY (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
migb k% (mg/Q) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
12->H0aTAY (mg/2) <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 -
' A-ynoaIFLy (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
B [LXi2-o500TFLY (mg/d) <0.004 - <0.004 - <0.004 - <0.004 - <0.004 - <0.004 -
B [ii-rjponTiy (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
B [112-ry5ooz4s> (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
r)yaOTFLY (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
ThZoO0IFLY (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
1,3->onn7axRy (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
F51 (mg/Q) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
DEOD (mg/Q) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
FAR AT (mg/Q) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
oty (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
LY (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
HEBEER (mg/Q) 33 18 0.57 44 4.1 1.7 5.1 3.3 0.74 5.9 6.7 4.2
BEHBEER (mg/9) 0.035 0.037 0.040 0.058 0.042 0.034 0.025 0.031 0.006 0.024 0.024 0.048
WRMHERRRVERBREZER (ma/Q) 33 1.9 0.6 45 4.2 1.7 5.2 3.3 0.7 6.0 6.8 42
;0% (mg/Q) 0.05 0.07 0.06 0.05 0.07 0.06 0.06 0.04 0.03 0.04 0.06 0.06
F5%F (mg/Q) 0.02 0.02 0.02 <0.02 0.02 <0.02 <0.02 <0.02 <0.02 0.02 0.02 0.02
1,4-OFFH> (mg/Q) <0.005 - <0.005 <0.005 - <0.005 - <0.005 - <0.005 -
VISI=E PN (mg/2) - - - - <0.006 - - - - - - -
F5UR-1,2-Y9A0IFLY  (mg/Q) - - - - <0.004 - - - - - - -
1,2->Haa7a/ > (mg/9) - - - - <0.006 - - - - - - -
p-CHOAR B (mg/Q) - - - - <0.02 - - - - - - -
AIXYFAY (mg/2) - - - - <0.0008 - - - - - - -
BATOIY (mg/2) - - - - <0.0005 - - - - - - -
ZI=rEFF (mg/Q) - - - - <0.0003 - - - - - - -
AVTaFHS> (mg/2) - - - - <0.004 - - - - - - -
XU (mg/2) - - - - <0.004 - - - - - - -
pI=I=p s =) (mg/2) - - - - <0.005 - - - - - - -
JOEHER (mg/Q) - - - - <0.0008 - - - - - - -
EPN (mg/2) - - - - <0.0006 - - - - - - -
THOLIRA (mg/2) - - - - <0.0008 - - - - - - -
B [Zz/7AL7T (mg/2) - - - - <0.003 - - - - - - -
B |[470RUhX (mg/2) - - - - <0.0008 - - - - - - -
# [ZoL=rODzy (mg/2) - - - - <0.0001 - - - - - - -
BH LTy (mg/2) - - - - <0.06 - - - - - - -
B [¥LY (mg/2) - - - - <0.04 - - - - - - -
FAVERY ITFNARVI (mg/Q) - - - - <0.006 - - - - - - -
=L (meg/2) - - - - <0.001 - - - - - - -
E)ITY (mg/2) - - - - <0.007 - - - - - - -
TUFEY (mg/2) - - - - <0.002 - - - - - - -
ElEEZILE/R— (mg/Q) - - - - <0.0002 - - - - - - -
IFH/0Oery> (mg/2) - - - - <0.00004 - - - - - - -
&3IUHY (mg/2) - - - - <0.02 - - - - - - -
o5y (mg/2) - - - - <0.0002 - - - - - - -
Jz/—)L (mg/2) - - - - <0.001 - - - - - - -
RILLTILTER (mg/2) - - - - <0.1 - - - - - - -
4—t-1HFNI1/-N (mg/2) - - - - <0.0001 - - - - - - -
7= (mg/Q) - - - - <0.002 - - - - - - -
2,4-Y"9aA71/—) (mg/2) - - - - <0.0003 - - - - - - -
PFOSE UPFOA (mg/2) - - - - 0.000013 - - - - - - -
i
IT=




DYt T 48 Okigi 4 - BID
HEKERR

- R3.5.12 - R3.7.7 - R3.9.1 - R3.11.10 - R4.1.5 - R4.3.2
FRKEEZ - 9:50 - 9:45 - 9:45 - 9:45 - 9:45 - 9:30
P e £ (mg/2) - 6.1 - 45 - 3.6 - 4.3 - 7.9 - 8.0
" BREBEESR (mg/2) - 0.009 - 0.024 - 0.028 - 0.015 - 0.043 - 0.030
WBEEERVEMBEEE (ma/0) - 6.1 - 4.6 - 3.6 - 4.4 - 7.9 - 8.0
fig e
QEHREOKES &)
FKEAR R3.4.7 R3.5.12 R3.6.2 R3.7.7 R3.8.4 R3.9.1 R3.106 | R3.11.10 | R3.12.8 R4.1.5 R4.2.2 R4.3.2
FRKEFZI 8:35 8:35 8:40 8:30 8:30 8:30 8:55 8:30 8:50 8:35 8:30 8:30
o HBEER (mg/Q) 6.3 5.9 6.5 6.7 5.7 5.7 6.4 338 1.8 5.9 5.6 58
bs W RR (mg/Q) 0.22 0.32 0.25 0.058 0.087 0.041 0.025 0.043 0.041 0.18 0.36 0.17
WEMHEERUVERBEES (mg/0) 6.6 6.2 6.7 6.7 5.8 5.7 6.4 3.8 1.8 6.1 5.9 6.0
& 5
DHEBEMEERRUVEBBREZEROARELTNET,
BEE
@— 1045 (Kigi 4 - 40EEI1)
EEEAH - - - - - - R3.10.6 - - - - -
RIERZ - - - - - - 11:15 - - - - -
DRI L (mg/kegkZilE) - - - - - - 0.1 - - - - -
Eis) (mg/keBZifE) - - - - - - 100 - - - - -
7J=PN (mg/keBzifE) - - - - - - 49 - - - - -
E [Kfives (mg/keBZifE) - - - - - - <05 - - - - -
it (mg/kegBZiE) - - - - - - 43 - - - - -
#aIKER (mg/keBZifE) - - - - - - 0.01 - - - - -
B [7LEILKR (mg/ke¥2iE) - - - - - - <0.01 - - - - -
PCB (mg/keBZifE) - - - - - - <0.01 - - - - -
BEEE (%) - - - - - - 18 - - - - -
Ky BEREE) (%) - - - - - - 22 - - - - -
i %
45 (kigi%  EJI)
FEEFAR - - - - - - R3.10.6 - - - - -
RiERZI - - - - - - 9:00 - - - - -
HRI YL (mg/keRZifE) - - - - - - 0.1 - - - - -
fiz) (mg/keBZiE) - - - - - - 12 - - - - -
=N (mg/keRZifE) - - - - - - 34 - - - - -
E |AMEvaL (mg/keBZifE) - - - - - - <05 - - - - -
e (mg/ke#zilE) - - - - - - 5.2 - - - - -
#IKER (mg/keBZiE) - - - - - - 0.03 - - - - -
O IPEI® T 0 (mg/keRZifE) - - - - - - <0.01 - - - - -
PCB (mg/keBZiE) - - - - - - <0.01 - - - - -
BEEE (%) - - - - - - 18 - - - - -
Ko FigRE) (%) - - - - - - 21 - - - - -
5 %




